The l“lm( o ¢ 1 1 .
5 p ary contaminant included in cigar smoke 1s

(A)  Carbon monoxide and dioxide
(B) Carbon monoxide and Nicotine
(C) Carbon monoxide and Benzene
(D) Dioxicine and benzene

(E) Answer not known

HaQr yeamsuliler 2_arer (pgevfleney s

(A)  srirues GuremamsH HMILD L )b (H
(By sriuen Gurengeams® whmid HléGasig o
(C) sniuen Cuoneméams® wHmb Cueder
(D) eLs8msen whmib Guerslen

(E) ofev Gsflwelicvena

When a ball is projected upwards theré is an increase in its

1. Potential Energy
2. Momentum

3. Kinetic Energy
(B) 1 and 2 only

(A) 1only
(D) 2 and 3 only

(C) 2only
(E) Answer not known

= £ 3
B&iel

ubeng CoGe aflyGurg =g GuGe Qeadpg. <LQures U
Ep&HeRTLCUDDIGT CTS) <1 af&8ng?
1. BleneowmHme (=1) eTSEwLomen 2} DHMED

2. e2psw

3. QuéspHOD
(B) 1 wpmw 2 w @b

(A) 1w @b
(DY 2 wpm 3 w b

(C) 2 wifw
(E) cdenL QsMwailema

3
3 CCS1pP/22
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3 Alterations in the environments represent selective pressures upon the
J. /e 4( (= d
population to which it must adjust. This statement infers that

(A) Organisms will increase in population in a changed environment
(B) Organisms which fail to adjust to the changed environment must
vanish

(C)  Organisms will alter their morphology to adapt to changes in the

environment

(D) Organisms will change the environmentunder selective pressure

(E) Answer not known

EONIFSWPelled Ui DTODRIGET, W&SET ./ gar dgrensews sf Qe Geuatrig u
Cambgh&éaur_ L DA(PESMIFEHaT S GDl&H e e TRUDS @b AN En &
2 w1684 mg,

(A)  wrdleumd GWPellé) 2wl Mewriger QAgrens; <igle g @0

(B)  wrhuw GYRIEE THU LTHTE 2 i e et 2NP6g Cums CrA @ w

(C)  spméGwded ghu@D DD DEISEES  6riyy 2 W9 M ewriygsgr S
QT @_@QJ

DIDOLIEHLI DD Hlé Q& maT(emLd

(E)  &erL Qgflueidrena

CCS1P/22 4



The enzyme involved in unwinding of DNA 1s

(A) Telomerase (B) Helicase
(C) Polymerase (D) Ligase

(E) Answer not known

DNA-me Qran® @epsarrs QALLASD mHLEHD QBrd wg?
A)  QLGemwGrev (B) QanelGsen
(©) urQwCrev (D) &Csaiv

(E) ofenL Qsflwedeana

The first step in the seed germination 1s imbibition of water which

induce the

(A) Stimulation of plumule

(B) Breaking dormancy

(C) Growth of radicle

(D) Resumes metabolic activities

(E) Answer not known

leng peassallan (pse Hlaawns Bir 2 Mgprriu@o Cung), Qg s g HE g ?

Ay g GmEs sIem-ULGEDS
(B) aflevg 2-pésLd pe-LBEDS)
(C) eflengGeur eueTi&lmg)

(D) Qsé Guésd GG

(E) e&flen @g,rﬂluaﬁlebcma)

CCS1P/22
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6. Which is the stronger acid than phenol due to the presence of three same
electron with drawing groups
(1)  O-Toluic Acid
(11)  Benzoic acid
(11))  Salicylic Acid
(1v)  Picric Acid ‘
(A)  (ii) only
(B) (i) only
(C) (i) and (1v) only
(D)  (@{v) only
(E) Answer not known

Iﬁmnm@ L euallenio @, womib eRe D, 2Cs eTadL T Seuit Smen Qs megerL
Asr@dser QubmieTer yBlevid eTg?

(1) O-QLrefuds oiflavin

(1)  Quemer9s eifles

(111)  s1eHedé oblevid

(V)  G&Mé endanw
B (i) e go

(B) () wlpw

(©) (i) wpmw (v) vl @i
D) (V) o fw

(E) oo Asflueidee

CCS1P/22 6



W-hich iis the one considered to be more important to study the History of
science 18

(A) Antiquarian curiosity

(B) Logical reasoning

(C) Scientific knowledge

(D) Conjunction with philosophy

(E) Answer not known

Sifedwe eurerpilenars sHuSd s p&HubTagnas H(mSLIU[HD Qe
(A)  upw@urmeT g <ieud

(B)  siés funss sTramhsTame

(C) =iMefwe Sidley

(D) spsiupg e @maruy

(E) oferL @sflweiicvene

Which one of the following phenomenon cause adverse changes in global

climate pattern and wreak«havec world wide in the form of floods and

droughts?

(A) Carbon Dioxide (B) El-Nino

(C) Tropical cyelones (D) Itai-Ital

(E) Answer not known
SpssTarruapOle THG R, 20 oyeneiler, Qaudramid eupl & e euigeurisaile,
Ledls sLuGauu wansaler  LTSSOTE prophsmer  gHuBsd, Qubemsll
Guileysar Hl&1p& STTERTLONS Q(m&EEng?

(B) aév — HIGemm

A)  sfluble amy
(D) @Lmi-@LLmi

(C) Qeuliuware @oreat]

(E) eden Qsflwedidee
! CCS1P/22
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9. Match the following :

(a) Polyethyleneglycol 1. Herbicide

(b) Bt Toxin 2. Stress Tolerance

() Glyphosate 3. Insecticide

(d) Proline 4. Cell Fusion f
@ ® © @ |

(A) 3 4 1 2

B) 2 1 4 3

©) 4 1 3 2

D) 4 3 1 2

(E) Answer not known

Spssam_cupep QUITTSSS

() Ul afalen Aavarsrer | 18 searsQanch

(b) Bt péssdr 2 (WSS FALLSBEED

() HewerGLNCsL. 3.  L#fEQsrad

d) LGrredan 4. o 9ygm Genama
@ (b)) (© (d)

(A) 3 4 1 2

(B) 2 1 4 3

© 4 1 3 2

D) 4 3 1 2

(E) ofevL @sfluaiidamae

CCS1P/22 8



10. Which of the following statement is/are correct NANOBOTS are :

(1)
()
3)
(4)
(A)
(B)
©
(D)
(E)

Robots that carry out a very specific function at nano scale level

They can be injected into blood stream

They can be used to measure toxic elements in the environment

They are very cheap to produce
(1), (2) and (4)

(1), (3) and (4)

(1), (2) and (3)

(1), (2), (3) and (4)

Answer not known

Spssnarueupmear asl/ameau sfurer spn NANOBOT prCammun’ ereuuBaugl

(1)
(2)
3)
(4)
(A)
(B
(©)
D)

(E)

@ GOV uaflow Qeliwepaub BréamBLL T sjaredleorer GorGur @0

Qeunen @7&S Frarhsefles su LGS0 D

@ eupenm SHHMIFESHENeH 2 6TeT HEsL QumrmL-semer sjeredl LWETLI(HSSTD

@auperp 2 Huss Qelicus) s welleimans

(1), (2) womd (4)
(1), (3) wpmid (4)
(1), (2) wpoid (3)
1), (2), (3) wop> (4)

Sen Ggrﬂmeﬁlwm@

? CCS1P/22
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was the first mission to be operatio

nalized under the

11.
National Action Plan on Climate Change (NAPCC).
(A) Solar Cities Programme (SCP)
(B) National Solar Mission (NSM)
(C) Solar Green Building (SGB)
(D) Development of Solar Cities (DSC)
(E) Answer not known
sre Fleve wrHPLD GHSS — Caslw Clewe S L g Sip QswUBSSLILL 2ETaT (LS
L @] S4@D.
(A)  &wu qefl parriseT S
B GCsdlw ENw gafl uaxfl
C) Gw gal usms sy 1D
(D) ©w gl parrsailern eueniss]
(E) oo Qgfwelicvenen
12. Which Biodiversity park in India was announced as the 1st “Other

(A) Tilpath Valley Biodiversity Park
(B) Aravalli Biodiversity Park
(C) Yamuna Biediversity Park

(D) Adayar Eeopark
(E) Answer niot known

- @pEumedled 2 erar 6T LIO@IUITLI LBIST, (PSLTeS Liwiggyemer
FETLONE (OECMs) oifledéasiiul_(Hetarg)
(A) Heous LiGTaTS & Té@ LgIuili s
(B) <preucvad Licb@ualTLI LymBIs T
(C) wqpenrm Lol TL) LyBIGT
(D) oeLwry FDMIFGHLPE LyBIST
(E) eoflewi Qs Muweileene

CCS1P/22 10
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13.

14.

Which of the following aye correctly paired :

i) KVK - Kisan Vigyan Kendra

i) SMAE - gy Mission on Agriculture Extension

(ii)) NSDA - National Skil] Development Agency

(iv) ATMA - Agricultural Technology Management Agency
(A) (1), (1) and (iii) (B) (ii), (iii) and (iv)

(C) (@), (1) and (iv) (D) (), (ii), (iii) and (iv)

(E) Answer not known

Gencumeareuniled ergy sflwine @eamssiul Hererg)?

1) KVK —  Slenen el gpepnen Capym

(i) SMAE - Ceernair edfleunsss giaen pLouiy s

(iii) NSDA - Csélu Spen Gobum’ () psenio

(iv) ATMA. - &eusmu QgmfamL u Goerareaw wpamio

A&y (1), (1) wpmw (111) (B)” (11), (111) wpgi> (1v)

(€) (), (11) wpgd> (1v) D) (), (1), (1i1) wpmd (1v)

(E) ealer Qgflwelcvene

How many number “of\Ramsar sites are identified in India till
15th August 20227

(A) 82 (B) 78
C) 175 (D) 70

(E) Answer not known

st @Liser 15 ysav® 2022 aueny sem_Hluniu’ Geraren?

Qndwnedle erggenar FmD
A) 82 | (By 78
©) 75 (D) 70

(E)  aferL Qsflwaiievand

1 CCS1P/22
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PM Gatishakti is a transformative approach for economic growyy, ang

Sustainable Development which focuses on
(B) Multimodal Connectivity

(A)  Educational Development .
(C)  Empowerment of SHGs (D) Environmental Developmep;

(E)  Answer not known
PM shesd) aramug Qumerngmy cuariédl LHMID BlevEWITET GUETTFS S Tay o
@ seuand Qs Fmg.

By uenps @emeamray

(D) spmpiyp @whlee eueriss

[l.
By

SIS popwnEh @)
(A)  sdel aueaTigFS
(C) SHGS—GBT éqﬁa;nm_b
(E)  &9en Qs Mwelerene

16. Which one of the following is NOT%.an“ objective of the Union

Government’s ‘Betj Bachao Beti Padhaé’ secheme?
(1)  Prevention of gender biased sex seléctive elimination
(11)  Ensuring survival and protection of the Girl child

(111) Ensuring education and partieipation of the Girl child
(iv) Creating a fixed depositin the name of the Girl child concerned

(A) (@) only (B) (1) and (i1)

(C) (iii) only (D) (iv) only

(E) Answer not khowh

Epsrarucupmier a1gCul iy LEGsT, Culy usCeT erayib el orddr S shen

Crrésid Han g ?

(1)  ureller @iy Ciue L wWwrer Gairay béssHamans s Qeiise

(1) Quer Gybmssafer eurpey LODID uTgISTIG@®ar 2 mh Q&g

(1)  Quer GHeossefen soedl LHMID LkGCsH e o mFl Qewige

@av) soUBSUULL. duear Grbosulear Quuifd Blbsy @auliys QsTensenw
THUDSSI5D

A) (1) i@

(C) (111) wl G

(E) &Sen Gsfluwelevene

B) () wpmyw (ii)
(D) (iv) ol @b

CCS1P/22



18.

Read the list o
them the corrgel(:,ter}l]-below carefully of dignitaries and find out among
precedence lerarchical order with respect to their rank and

(i)  Chief Election Commice: .
Gi) Cabinet Secrotar, missioner of India
(i) Chief of Army Staff
(iv) Deputy Speaker, Lok Sabha
E‘é; 8 )’(isil)gﬁ(;) ar;d(.(?i; (B) (iv), (iii), (ii) and ()
’ ’ and (111 D) G). (i), (i .a
(E) Answer not known, (D) (i), (iii), (iv) and (1)
§@fg}%€5-ﬂ®é§a§1€1u|‘_®mm 2 Wit Ugel SigeumiTsalldr Ll g Lmas seauallbs AeuTsaT
9%5 & g uuenLuleoner (pere_Manwols Lig Hlavets Ll g wenas sarHs.
1) Qbdu s Csigen aymenim
(11) W& SiemwssTmeus Qaweir
(iil) semeenLd @rramies s
(V) WESEaTE6U &IMERTS HeMaauIT
A (@[v), (1), @) wombd (i) (B) Aiv), (i), (ii) wpmwo (1)
©) (@), @), (11) omd (111) @) G, (iii), (iv) wppd (11)
(E) e Qsflweidena
Which is the international codlition of solar-resource rich countries that
are collectively addressing,, common challenges on solar-energy
applications? ‘
(A) International Solar Energy Society (ISES)
(B) InternationalSolar Alliance (ISA)
(C) International Renewable Energy Agency (IRENA)
(D) International Energy Agency (IEA)

(E) Answer not known
n(safled @UTGEITS o GTen FeuUTOGEET STILE GISS Sl L&

@M D L6 ' ' rourd .
Neundlée o (Heumer — @M auemd BIGHS pr(aaflen sl L el 6rg)?
(A) sieuCse G 2 HDE) FLPSLD (ISES)

Laxfl (ISA)

FirouGse @M g&8) sl
ECB? &r'reu(ﬁias fgjﬂﬂé’:&sggé& 2pHNE (PHEDLD (IRENA)
(D) sreuCse < HDED (PEDLD (IEA)
(E) ofen @g;rﬂuaﬁlei)ma) ‘
) CCS1P/22
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19.

20.

Y

Arrange the following Indian Women Olympic Medal Winneyg iy

Chronological order

1. Saina Nehwal

2. Lovlina Borgohain

3. Sakshi Malik

4. Karnam Malleswari

A 2,41, 3 B 1,4,2,3
© 4,1,38 2 D) 4,1,2,3

(E)  Answer not known

2ADES Cum'yuie Lsssb Caverp Aeteumid Gl waafler sroafmsu.,

GPoPUUBSSeD

1. OEFRTT QEBeure

2. weualarm QuriGarense

3. &mad wredls

4. SMewrd 106b Ceveveu

A) 2,4,1,3 By 1,4,2,3
C 4,1,3,2 D) 4,1,2,3

(E) o&Seri Qs Nweledana

Palmer indexis associated with which of the following natural disaster?

(A) Earth quake (B) Volcano
(C) Drought (D) Flood
(E) Answer not known

umrewi GHUIG SpsTamibd e @unas FHnsCsr(H Csmiiyenwig
(BY eflweney

A) HeopBssd
(D) Qeudremid

(C)  aupLéd
(E) oflanr Gpflueilome

14
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ated to ISRO

Match the following and choose the correct option rel

(a) URSC 1. ISRO's virtual space Museum

(b) ITTP 2. ISRO satellite centre

(©) SPARK 3. Space science for school students
(d) YUVIKA 4. Technical training for ISRO staff

@ ® © @

A 2 3 4 1
(B) 3 1 4 2
(C) 2 4 1 3
D 4 3 2 1

(E) Answer not known

[SRO Qgrifumer  Spsramucibenn Qﬁn@gg‘,] wpmp sfwrer  eflaLeu

Ga1b0&[H&seLD
(a) URSC 1. ISRO'e9en efréseudd evGuen Sy Hwid
(b) ITTP 2., ISRO giewamsCaner Hlapaowild
(c) SPARK 3%, Uigraf wrameuiis@péstan eanQaef] siflellwe
(d) YUVIKA 4 ISRO eflén uaflunenis@péaner Qgmble FiLuU
Ludmé)
@ ® © @
Ay 2 3 4 1
® 3 1 4 2
(C) 2 4 1 3
(D) 4 3 2 1
(E) eflenL @iflweileoae

15 .
CCS1P/22
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22, On April 10, 1802, the Great Trignometrical Survey of India Commenced
1ts work from city.
(A)  Delhj (B) Calcutta
(©) Bombay | (D) Madras

(E)  Answer not known

B wéGanamaiiuc sy Hocuend giige 10, 1802 — wpth e ——
Beflod sang, <Blellevars Qs ridwg).

A) g (B) sasssm

©)  ubumg (DY wsrmev

(E)  ofeni Qsfweldeme

23. Carolyn Bertozzi, Morten melda] and\Barry sharglers won the 2022
Nobel prize in Chemistry for?

(A) For the development ¢f* click chemistry and bioorthogonal
chemistry

(B) For discoveries coneerning the genomes of extinct hominins and
human evolution

(C) For the development of asymmetric organocatalysis
(D) For the development of a method for genome editing
(E) Answer'not.known

&Grreller  QUITCL e, GuriLer QudL wpmb  Gufl  egmideiey < ECuir

2022 241d 2y,e001 (D ment Caugllllwele ergmamns GCrruch uflens Qeusrmmir?

(A)  dafls Qaflev M womib LG TsCaraare QsWbavr Mulcs TR &s TS

(B) <WbgCurer Capmdleaferseter LIUESESHET HYID wels Lfawon umHlw
&&ot (hLYl1g LIL|& (@5 &5 M8

(O swafiom < isCamsrafader cuarisdss s

(D) wruay ergligi peppulen cuerisdssns

(E) o&levL Asflwelevency

16 ﬁ
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. Match the wi , , )
24 thner of medal in common wealth games 2022 with their

sport

Player Sport
(a) Sharat Kamag] 1.  Boxing
(b) Lakshya Sen 2.  Weight lifting
(c) Mirabai chanu 3. Table Tennis
(d) Nikhat Zareen 4. Badminton

@ ® © @

A) 1 2 3 4
B) 3 4 2 1
C) 4 2 )| 3
(D) 2 3 4 1

(E) Answer not known

smoer  Qeudvg 2022  eflevemwumig e UgssD  deuampeunsamar S|UTEETS)

aNemerwm_(HLerm QurHSSs :

aQeperwm_(H 3T efenerwum_(H
(a) Gagrl &wed 1. G55 sameL
(b) esadlwr Qser 2. LEHEIEESD
(¢) Syrumi sTe) 3. . Gueng Upg
d) Hés agler 4. Yupy

@ ® @©@ @
A) 1 2 3 4
(B) 3 4 2 1
© 4 2 1 3
o2 3 4 1
() eferr Qpfluedood®

. CCS1P/22
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25.

26.

- lculate H
Which one of the following Indicator 15 not used to ca Umag),

Development Index (HDI)?
(B) CPI

(A)  Life Expectancy
(D) Per Capita Income

(C)  Education Index
(E) Answer not known
Sledteu(meuateumled TS @ GOl weflgeuer Cuwurl_H& @ﬂﬂﬁf—@m—& FETES)
Lwetu(higsLuBeuglerenar?

(A)  aumpmrer sTe Bj6Tey (BY maiGeun allae GO0

(C)  saed GHSE

(E) ofer Qpflwedcrene

(D) saflpii e rerd

“Nambikkai Inaiyam (NI)” a TaniihNadu Government project about

(A) Statewide Block chain infrastructure

(B) Source of resident data for Tamil Nadu
Unified access.to e-services of different government departments

©)
(D)

(E) Answer not'known

Providing professional resources and training to decision makers

“Nambikkai Inaiyam (NI)” sl@pmr® <igs b undlug

wrhle apepeaugid Block chain e érslLewiiy

A

(B) g,uS]%pg,m'_qp')a;rrm Gy flew srejsaflear < genb

(C) weGeaum orEnhas slamnsaler e-ComasEhesTar Qhhidmabs ianise
(D) @QQ@@uumr’ra@&@ Qamflevgienn euaTmseT LHMID LWDEGMET 6uULPHIE560

(E) ol Qgflusidma

18
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)
e

Which 1s correct?

() HYV-High Yielding Varieties

(i) MSP — Maximum Support Prices

(i) PDS - Public Distribution System

(iv) IPM — Integrated Pesticide Management
(A) (1), (11) and (iv) only

B) () and (iii) only

(©) (D), (i) and (iii) only

(D) (1), (111) and (iv) only

(E) Answer not known

o5y sflwumang?

() HYV — 285 feransse s> aibpsben

() MSP — efsui_s oy dema

(iii) PDS — Quig cIHEuIME Peop

(iv) IPM — gmhdaanhs Lsfs@sarad Goaramewn
&) (@), (i) wpgo (V) e

B) () wpgd (i) wrO®

©F (), di) wppu (i) v 6D

D) (i), (iii) wppe> (V) e

(E) oQer Qg;rﬂu_leﬁ]éi)m@)

19
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S | s

L Valarchi Th;
28. Kalaignarin Anaithu Grama Orunginaintha Velan hlttarn

alms at

1. Increasing the cultivable area

2. Bringing fallow land under cultivation

3. Changing the crop pattern with introduction of new crops
4.  Augmenting water resources

(A) 1, 2 and 3 are correct
(B) 2, 3 and 4 are correct
(C) 1, 2 and 4 are correct
(D) 1,2, 3and 4 are correct

(E) Answer not known

soalar simasg Hmo emidwanss Ceuarmam cuarissl i sdler (psslu
Crr&sibd

k. FM@Uly urlenu FsfeEs CFuge

2 QsrLbg Hlegens @ LI &E CasmeaT(h eumse

3. yHw wulFsEener HapsUUBHSSIeUSET epeod LILAIT (LpepMmEdWI LOMHMIS6

y .

B s TrRsmer QUHSEGS®
(A" 1, 2 wpmib 3 SHwea &
(B) 2, 3 whmd> 4 fwumey &l
(C) 1,2 wpyw 4 = fwemae &l
(D) 1,2, 3 wpyd 4 o fweneu &l
(E) aflen Qpflweslcrama

20
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00,
A

(a) 1997 1
(b) 1998 9
©) 2006 3
d) 2009 4
@ (b (© (@
A) 3 4 2 1
B) 4 3 2 1
C) 4 1 2 3
D) 3 1 4 2
(E) Answer not known
Sipssam_aup@pl QUIDHSSS |
(a) 1997 1.
(b) 1998 2.
(c) 2006 3
(d) 2009 4.
@ ® © @
(A) 3 4 2 1
(B) 4 3 2 1
c 4 1 2 3
oy's 1 4 2
(E) olerL QgMwiailaome

Match the following :

. Thittam
Anaithu Grama Anna Marumalarchi Thitta

Varumun Kappom Thittam

Samathuvapuram

Namakku Naame Thittam

Sienanbgl STLD AG@TERTT LYLEIFES b

ai(mbapen TIGUTD FL LD

\ FlbggIeuTD

BLoé&E BTG SLLD

21 CCS1P/22
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t. of India for enSuﬁng.

» Bl
‘U 1 . . N v
hich among the following is a scheme of Go

30.
the safety and dignity of sanitation workers?
(A)  Smile
(B)  Namaste
(C)  Amber
(D)  West
(E) Answer not known
QBAW =yyden Gemau(mid Hi L RsEhar SIULre] an@wnmﬁasaﬂsin LTSI UL R
wdlemuuwyb e M Qewicug) e1g)?
@) coaoe (Q
(B) pwenGs O
(©C) swur (: ;’
(D) Qeusvil. o
(E)  &flev Qsfwelerenen 60
31. During which Period @cons of Nataraja deity with four hands was
casted?
(A) Chera Pé@ (B) Chola Period
(C) Pand$ 10d (D) Shunga Period
(E) Answer'not known
THS STOGLLGHD B @EHEHLG Sl wLgmeflar Ceouamseand  &emermsar
QUGS LILIL_ L6817
(A) Gegi smed (B) Gempr sraw
(C)  unamig Wit ST (D) snus smaw
(E) efenL @g,rﬂuaﬁ]ébmw
22
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Match the followi :
owing Acts with its corresponding years :

(a) Madras Wild Elephants 1. 1882
Preservation Act V. |

(b) Tamil Nadu Forest Act 2. 1980

(c) Forest Conservation Act 3. 1972

(d) Wildlife Protection Act 4. 1873

a M (© (@

A 1 1 3 2
(B) 4 1 2 3
© 2z 3 1 4 {Q
D) 3 2 4 1 O
(E) Answer not known C)
Qénaumib sL_LEs@ar 2i5Car( anan M i HECATTH AUTBEES.
(a) sTTED QUET u_:rra)anasdTurrga;rru 1. 1882
(b) sHRETG aaé sLLD @ 9. 1980
(c) euar LTEETUILIE 5 @ 3. 1972
(d) mmeﬁ]wmgﬁw‘&uém;;m 4. 1873
(a) (b) § (d)
a 1 4 3 2
ma 1 2 7
c 2 3 1 4
o3 2 1
(E) eflens Gpfnedve
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33. Which of the following statements ar¢ true 1 Tespect
Dr. Muthulakshmi Reddy? . N
1. She was the first woman in India to get a degree 1t medicine.
She was the first woman Legislator 1n British India. |
She was the first female student to be admitted in Maharajg’s

college. _
4. She was the first woman President of the legislative council.
(A) 1,2and3 (B) 2, 3 and 4
(C) 1,3and4 (D) 1,2, 3and 4

(E) Answer not known

LT&LT. g Qaesdl  Qrlgewl durnsseemn (Qemmeu(mLD smpmsaile) eg

W b

2 T DWINATS) ?
Qpdwurede wmésausdd LLLD QUDD (PSD Quaregy,eu.
A g6y @pHwmeder (pge &L DG 2 mundlemgreun.
waTyTey soariuid Csmbs WP QU a0 meT el W meu M.

sl L senuulan 1psed Quar sanaeurTalil.

A) 1, 2 oomw 3 (B 2, 3 wpmd 4

(C) 1,3 wopw 4 M1, 2, 3 wpmb w
(E) &8enr Qsfluedcrena

W N

The significance of Pamil Nadu Panchayat Raj (Amendment) Act 2016

34.
(A) Modifications inthree-tier system

(B) Constitution of District Planning Committees
Transferred specific functions and powers to Panchayats from the

(®)
State.Government
(D) 50 percent reservation for women

(E) Answer not known
PRTNC LEsEmuSS T (FLL Hmés wGsngm) s Lib 2016em Apliuibswd
A)  adsE pepuiled IHOUULLE

(B) wrauL HLLE GUEEDT ADL55E
EOoACL sfsmrrsmar LBl AT mbE LEHETUSEHEREE LTHHLILL L)

(€)
Dy 505085 @ 5560 Quars@i srBésiul Ly
(E) ofle Qs fwedlda 3
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puring the early resistance against the British who issued the

“Tiruchirappalli Proclamation”

(A) Veerapandia Kattabomman (B) Velunachiar

(C) Maruthu Brothers (D) Puli Thevar

(E) Answer not known

2RECOUTEERESG  adyran - Ger G “ gﬁgnuuc'rrﬂﬂ
ArsL_ag®s” @mﬂumfm wrousro spiiser Curg O

(A) elrunedTiqw &L Qumbioen (B) Geugy praflwmt

(Cy wmg sCangriser (D) yeiis Gaaurm

(E) eler Qgflwelerenay

2. Match the following :

Name Related to
(a) Swami Sahajananda 1. Oppressed Hindus
(b) M.C. Rajah 2. Tamizhan
() Pandit Iyothee Thass 3. Nandanar Kalvi Kazhagam
(d) Veeresalingam 4. The Widows:Home
@ ® @ @
A 3 1 2 4
B 1 3 2 4
€ 1 2 3 4
(D) 4 1 2 3
(E) Answer not known
QurmSSIS :
Quuwirm QamLiiyeLwgl
(a) seumbl FHRQTHHST 1. lgev® afler@ev
(b) M.C. yrggrm 2. sWlpen
(c) uas'urm'_aGqurg,gg,rr&r'r 3. phgei &06dE SP&LD
(d) eSGreeimiaLd 4. fgemeu QoD
@ @O © (d)
Ay 3 1 2 4
®m1 3 2 14
€) 1 2 3 4
D 4 1 2 3
(E) efenr Qaflwaliiaoeme
0, CCS1P/22
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37. Assertion [A] : Human Resources is necessary for the Progress of 5,
country.
Reason [R] : Investment in education and het‘cllth of people ¢
result in a high rate of returns 1n the future for ,
country.

(A) Both [A] and [R] are true and [R] explains [A]

(B) Both [A] and [R] are true and [R] does not explain [A]
(C)  [A] is correct and [R] is false

(D)  [A] is false and [R] is true

(E) Answer not known

smbhm [A] THS @ Brigen Gbum 4hEh weils aeTd HSHwreuduions
Q&g

smpamo [R] 1 sdefl wpmin weser pasdo P&S(H QFieugen eNeneTalnd BT igen
T sTwsHer Difla oieme, Liboe &lenL_&@GL.

(A— [A] womib [R] Qrar®w sMwuregwomd [R], [Aleme eSler& @ g

(B) [A] womw [R] Qram@b slwrargy[R], [A]loes slaréseddana

©) [A] sfluneng whmiwo [R] FeUDIeS,

(D) [A] seupreng wpmib [R] EAwreans,

(E) oo QgMuwelicoamen

38. Which among the, following institutions secured no. 1 overall rank
according tosnational institutional ranking framework?

(A) IIT, Madras (B) IISC, Bangalore
(C) AIIMS, Delhi (D) IIT, Bombay
(E) Answer not known '

QereuHd Flpeuaisaiey erg Cedlw
ggwtﬂm&uﬁ]s’u WPsAL_FengL Cupme)?

(A) 1IT, Qsenenen (BRNIISC, L1 s s e 7
(C) AIIMS, Qe (D) IIT, wiberus
(E) ofen Qgfluwalleena

Pmeuer 57 s LevworiQen Uy @ EQwrss

26
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Match :
Tinais

(a) Kurinji T.ha;'{;?ds

(b) Mullai 2 Murugan

(c) Marudam 3. Indea

(d) Palai 4 Tirumal
@ ® © @

A 3 4 1 9

B) 1 3 4 9
€) 2 4 3 1
(D) 4 2 3 1
(E) Answer not known
QUTHSSS :

Senewr

GDlIEs#

(PELENE

(a)
(b)
(c)

1

2

LD(HSLD _ 3.
(d) | 4

LImemnaeL

@ (b d
A) 3 4 1 2
B) 1 3 4 2
& 2 4 3 1
(D) 4 2 3 1
(E) ofenL QgMwefcdona

(©)

Gandhiji established as ashra
established in Tamil Nadu by

(A) Madural
(C) Salem
(E) Answer not known

ST W g &6 guiind cTaTdId

g s0ipapHo 96 B4

(A)  wagery
(C) Gseid .
(E)  eflew Ggrﬂwaﬂwmw

&L e
smafl
Pmser
Qiglren
& (mLomed

m 'at Sabarmathi. Likewise an ashram was
Rajaji. Where was it established?

(B) Vedaranyam

(D) Thiruchengodu

@LEde o@ 2fnod 2 @ansdant. <G5 Gurd
b 2 paursdani. aiGs e o (Heunsdani?

(B) Geugnmremwid
D) HmeQsmCsan®

7 | . CCS1P/22
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malinga Adigal?

41.  Which of the following statements are true about Ra
()  He started the Samarasa Suddha Sanmarga Satya Sanga,

In 1865
(11) He was against caste system
(iii) He established Satya Dharma Salai in 1867

(A) () is true
(B) () and (iii) are true

(C) (), (i1) and (iii) are true

(D) (@) and (i1) are true

(E) Answer not known

(Deseu(meuaTeuDmIeT @ Imoaiis g &HaT UDHDIL, 2 6T en Lo LT e gD 6TE?
(1)  @UTweis SigH6T 51075 F&S SEIOTTES S ERESDS 1865-c < To9SSTT
(11) @ rTadis oig&6aT QI PDES erélpmarali

(111) @oroeiks sigaer 1867-6 5w o FTeneven i HimeSlemt

(A) () vl w2 amwurag

(B)- (1) wpmb (111) WL (Hb 2 ETDLOW TETS)

(C) (1), (1) womwb (111) 2 @TE@LUiTEg)

(D) () wpmbd (11) WL L 2 BB

(E) ofenL QgRweilcreney

Find incompatible pair in the following :

42.
(A) Pradhaba Mudhaliar Sarithiram — Vedanayagam Pillai
(B) Sugunasundhari — Nadesa Sasthin
(C) Kamalambal Sarithiram — Rajam Ayyar
(D) Padmavathi Sarithiram — Madhavaiya
(E) Answer not known
QuUmmBBST @eemTen S SRS
(A) Qs PSSO sfggln -  Geugprwsb Yerener
(B) s@@m &ﬁﬁfﬂ - pGL& smevdli
(C) gambLirer &g - o S
(m ug;LDerG)J_Qc;] &rﬂgﬁfﬂb - D&M G T
(E) edlene QsMwellewend
28
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44.

s 1921 at Er i
f;larticipated in poigiétE V.R. Picketed toddy shop. Two women also
icketing toddy shopx - 8: They were the first women to be arrested for
' ¥ 810ps in Tamj] Nadu. Who were they?

(A) Nagammajygq, and Kanpg

(B) Nagammaiyar and Moovammal

lu R . .
(C) Kanr_lamma'l and Muthulaksrhm?rl?tz?(;;tham Ammaiyar
D) Maniyammiyay apq Nagammaiyar
(

E) Answer not known

‘FD’L(B:’;QGUTFTW.- c"m@%mg] Qren® Quairag SleumLen Carpg whlwed CUITTL L SH6
FF@U'U—G‘”_”' élma?ﬂ('b Quetraer gnen  satEpssmL  whlwd  CurTlLgHe
TOULLSDSTE Wpger wpsae D&H QELNUILILL L cUif&ET. BeuiSeT Wmi?

(A)/ BI&LDEOLOWINT LOMID &eRTeRTbLomeT

(B)  prswewwri LoHMILD PeURNT QITomAigiDd benuT

(C) sawemtbdmET LHMID APSFIL 51 Qg

D) veflubewwr wHmb BI&DEWITT

(E)  &fer QsRweferana

Which of the following are correctly paired?

1. Nizhal Thaankalgal ~ Vaigunda Swamigal
Hindu Progressive Improvemént — Rajaram Mohan Roy
Society ' 4

3.  Samarasa Sanmarka Sangam — Vallalar

4.  Self Respect Morality — Vedanayagam Pillai

(A) 1and3 | (B) 1and 2

(C) 1only (D) 1,2 and 4

(E) Answer not known

sflwural QurmsSLILLL Gy SmaTs Camb0s (H&Hea b
L Ay grsasar - @euEGMTL Seumblser
2. Qi poCuUTES PECRTHD EMELD

3. &LOIF FANDMTES FRIGHLD

4.  swwAurems iDL

- grgrgmd Gurge ym
- euememeu
- Geaugprwsid Geraner

. (B) 1 wpmib 2
© 1 (D) 1, 2 i 4
/ WL
(E)  9erL QgMlweilereed
29 CCS1P/22

[Turn over



e

45. Choose the correct kural for the explanation given below :

j ' ha
It is more Pleasant to hold the dart that has missed an Elephant thay,
that which has targeted the hare in the forest.

(A)  Kaana Muyaleydha Ampinil Yaanai
Pizhaiththave] Endhal Inidu

(B)  Aakaary Alavitti Thaayinung Ketillai
Pokaaru Akalaak Kataj

(C©)  Kettinum Untor Urudhi Kilagnarai
Neetti Alappadhor Kol

(D)  Ulluvathy Ellam Uyarvullal Matradhu
Thallinum Thallamai Neerthy

(E)  Answer not known

Spésngy b @um e s Al w S(mé@naner Gz fley Qi

GCameved SievLaug) Apliy

A snar PUOLLS S aflé) wWimenen
Ae 55 Caied gpse @efls,

(B)  <smy SHatell g smulgyriy Calg vanay

GUWSTTQJ SIGVNE FenL

(C)  Cslggbd 2 amClm 2 08 devargeny
BLlig SiariuGsmi Gamed

(D) 2dr@nau Ggeemd o witeerare OHDE
seratlgyb erarmenw Higs)

(E)  elerr QgfweNcranw

CCS1P/22 30



(a) Ulagam Sutrum Thamilap
() Gnanaratham

(c) Thanneer Thanneer

(d) En Kadhai

@ ® @© @
@A) 1 2 3 4
B) 2 1 3 4
€ 3 4 2 1
D) 4 1 2 3

(E) Answer not known

1
2
3.
4

16 MatCh the fOHOWing bOOkS wlth their authors and ﬁnd the correct Order :

Desiya Kavi
Swaminathan
Ve. Ramalingam

A. Karuppan

ulqwe I-@& edrar mroseer ulgwodl-gé edrer proTAMwisEsL e

Qurmsd, &Cp QarT@ssuul (drar GHlui@smeas Qarar® sflwmen clleLeamwsd

CaiibASHESALD.

L qued I
(a) o@sbsHYD SO
(b) @remysLd
(¢ gaﬁsrm?r‘rg,aiuram‘?ﬁ
(d) eren g

@ ® © @
a1 2 3 4
(B) 2 1 3 4
C) 3 4 2 1
Dy 4 1T 2 3
(E) efen QaAwelicdera

31

> W b -

ugwed IT
Caélws se
soumblprgen

Qeu. @rmoelitisDd

. &(HLLIET

CCS1P/22
[Turn over



47. Who said these lines to whom?

“Maarivaram koorin mannuyir 111a1,
. )
Mannuyir ellam mannaal Vendhan™.

(A) Manimegala deity to Udhayakumaran
(B) Sudamadhi to Udhayakumaran
(C) Dheevathilagai to Manimegalal
(D) Manimegalai to Udhayakumaran
(E) Answer not known

‘wrfleumid s wergyulit @evena

wengudli eTédemd L eaimertrat Goupgean — erem
WTT? WN(h&E 2 mrSSs) ?

(A)  weGwser Gglieub 2 FLEGLIBIHE
(B) sswé 2 swGLIEIEE

(O) SaudamsvafGosmwss

D)  weGwsma 2 sLGLIEES

(E) e Qsfwefcrena

48. “Urellam koodi olikka azhuthittu
perinai neekki pinamenru perittu”

Who defined death.as a undefiable force?

(A) Appar (B) Thirumoolar

(C) Sundarar (D) Manikkavasagar
(E) Answer not known

“oarQereuLd salg eNGE S(WPHLHIL

Guflener B&HL Newmid eremm CuAL R

GTeNé Fey 2 aMTEGID Hlevewrmweamu eMssié bl Wi

(A)  eouir By Smepeit

(C)  spsri D) wremlésoins.;

(E) efer GgMwelevena

CCS1P/22 32



e

19.

Choose the correct meaning for the following sentences :

Palakudai Neezhalum Thankudai keel Kaanbar

1.

9.  Iravaar Irapparkku Ondru Ieevar

(&) These two statements appreciates the prowess of the king
(B) These two statements appreciates the philanthropists

(C) These two statements eulogizes the farmers

(D) These two statements talks about the humblesperson

(E) Answer not known

£g9ésasrr@nb S HmISEHEE@ MW QUIHSSLOTET Qunmeers Qsfley Aews

1. U@L boaid g,réj@sm_;ljsﬁgpé; SMaTLIT —

2.  @meurt @Uupnfré;@ el nfaJr'r.

(Ay @@aﬂuaﬁﬂ@ @m5@¢ <jyaiflern Qu(mE LWL Guadlermen

(B) @aueiye( cuf&@EpHLD augTeTedlan QU(HELEWIL] Gunpmpdlerpe
C) @aedya® aufl&@HD o Lpeufflen Qupewaws Guadlerper

(D) @maﬁlgdﬂ@ cuf& @50 el ey aremeuailain LigiTenLIL! Gumpm&lermen
(B)  ofenL QaMuediors

33 - CCS1P/22
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50. Nadaakondro! Kadaakondro!

avazhi nallaj vazhiya nilanae! '
Whose character plays an important role in the shaping of the worjg

Emancipation in Purananuru?

(A)  Women (Pendir) (B) Men (Aadavar)
(C) King (Arasar) (D) Priest (Anthanar)
(E) Answer not known

“‘r_BrrL.er‘srrGinCBg)rr STLmQ&renCnm
Sleuaufl Bevenen aum il HeGern”

Cobemey b UDBIMOmICT  uTLe o s Cubum_whE wrfen R(PE&ESMS
SDlg UL wnss o.Ml GiTm g ?

A)  Quen g7 NBY s aui
©C) s (D) <ipsew
(E) e QsfMweldrenay

51. Which Festival was celebrated throughout Tamilaham during the

Sangam Age?
(A) Adippooram (B) Onam
(C) Navarathiri (D) Thiruvathiraj

(E) Answer not known

FRIG ETsSle) H0lLp&LD Ppeudlayid Qamesm_ iy LIERTq 60 o187
GVRERNTITR B) e

©)  pammsAf D) fsaungiony

(E) el Qe

CCS1P/22 34



«Kavarum Kazhagamum Kaiyum Tharukki

Jvariyaar Illagi yaar” _ ¢, Whom does the advice is said in this Kural?

(A)

(B)

©)

D)

(E)

Guards

Ambassadors

Ministers

Kings

Answer not known

“a;a_ijLb' SPEAPLD MSW|LD S(Hé4

Qaflwurt @eerd wm” - QEGDeTWNHES Sidlajer smnépg?

(Ay

(B)

ETEUT&ET
SNGIGUTEHET -
SINLDEFFTEHET
Coumpsr &6l

ol Qg flweileree

35
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: : ist 11 :
5&hmmmwmmmmmmuMmum

List I

(@) Thirumurukarrupadai
(b) Porunaratrupadai

(c) Sirupanatrupadai

(d) Kurunji Pattu

(a)
A 1
B) 1
C) 2
D) 3

(E) Answer not known

(b)

3
2
1
2

(c)

L

(d)

4
3
3
4

Ll

List 11

Mudattamakanniyar

Nakkirar

Kapilar

Nallur Naththathanar

Gemeupeuaraupanm s L igwed I-Cor@ Uty we IT-eary Qurmssgis

u e I
(@) SnposmHoriuemL
(b) QurmBTTHOICIWEL
(©) Syurestmpm tiuen

(d) ENeMumn 6

(a)
@A) 1
B) 1
@ 2

(D) 3

(E) elen Qgflwefevanay

CCS1P/22

(b)

3
2
1

2

(c)

-t VSO NN

(d)

W W W

36

B 0 o =

ucquwe IT
(PSS LD & &8t et wi it
B&E& T

slerr
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(A)
(B)
(©)
D)
(E)

QErTH&Es Ul L uLgHle 9 HUL_L eramrenfic LU Srers.

(A)
(B
(G

(D)
(E)

8
64
216
25

Answer not known

8
64
216

25

37
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5 0.015,0.0015

. ence 01 ’

55. Find the common ratio for the geometric 8¢4%
A) 0.1 (B) 0.01

(C) 0.001 D) 1

(E) Answer not known

: : 9B STETS;.
0.15, 0.015, 0.0015,... GTEM Qu@é;@ Qgmm cufenaulle Qurgl

A 0.1 (B) 0.01

16)_ 0.001 (D) 1

(E) eflen Qsflweferena

56. Find the sum of 1?7 +22 4+ ... +19%
(A) 2500 (B) 2400
(C) 2470 | (D) 2570

(E) Answer not'known

(g snams: 12 + 22 1 4 197

@) 2500 (B) 2400
(4 2470 ©) 2570

(E) e Qsfweena

CCS1P/22 -



- ‘A’ can finigh a

Vi
(

work ;
taken by ‘A then ifl:;lhlS days and ‘B’

they can finish i, 2 day Work togetp

(A)

can do same work in half the time
€r, then what part of same work

(B)
(©)

g0 O

(D)

N -

(E) Answer net known

E’”L&ﬂﬂd} QP“}éﬁéﬂ!Drrrr ‘B’

. 21Gg Geuaneeni &g ‘A’ THEGD

G Geipgl @m prafio  apyéen

B

gl &=

(D)
(E)  eQenL @sNweldrena

’8. The side of a metallic cube 1s/12 ¢m. It is inelted and formed into a
cuboid whose length and breadthare 18 cm and 16 cm respectively. Find
the height of the cuboid.

(A) 6cm (B) 7em
(C) 8cm (D) 10 cm
(E) Answer not known

2 Camespnad et @ sassgrsdar uss oemey 12 Qs.S. G 2 (HE

18 Q&8 Bemd  LOHMID 16 Qsi5. s o drer @M  saEQssieusD
&@mrréséisdu(@éﬂmgﬂ- Db Haé dsuausSdle 2 LTsmss sramns.

(A) 6 Qs.8. (B) 7 Qs..8.

(C)8 Qs.8 (D) 10 Qs.18.
(E)  efen QaMweilerena

39 CCS1P/22
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%9. The compound interest on 2 16,000 for 9 months at 20% Per &thuy,
Compounded quarterly is
(A) 22599 (B) 22,572
C) 2529 (D) 2 2,502
(E) Answer not known
20%, yen® aiqls srarar@ie grpop wly swEEIUOD GEpds
¥ 16,000-559 LD MSTRISEHEE AL &@L sl () Ul g wag)
(A) T2599 (B) 22,572
(6} T 2,522 (D) ¥ 2,502

(E) oL Qsfwedome

60. In what time period will ¥ 10,000, éarn an interest of ¥ 2,000 at

10% per annum?
(A) 2years (B) 5 years
(C) 6years (D) 3 years

(E) Answerqnot known

oed T 10,000 ey, w656 10% wle dpshle, apsman opsd
2 2,000 aul_geowis AUHDS SBHD?

(A 2 yan(pad (B) 5 syain(haar

(C) 6 yam@sar D) 3 syan@ad

(E) el Ggfluaiom

40 |
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61

A car travels 90 km in 2 hoyrs 30 minutes. Then the time required to

cover 210 km with the same speed is

(A) 5 hours 50 minutes (B) 5 hours 30 minutes

(C) 5 hours 20 minutes (D) 6 hours 50 minutes

(E) Answer not known

o vAWHE 90 8.8 gsms 2 wal 30 AL ks SEED. G Causgdlev
210 £.8L L evé 588 2@ Cibiid

(4" 5 wenfl 50 HLAl_ruser (B) 5 weafl 30 HLilriser

(C) 5 wanfl 20 Slfl_risser (D) 6 weh 50 Hiliuriger

(E) oo Qpfuciiiams

The radius of two right circular cylinder is in the ratio 3 : 2. The ratios of

their heights is 5 : 3. Then the ratio of their C.SA.is

(A) 5:2 (B) 5:3
€ 3:2 D) 2:5
(E) Answer notknown

Qe CHT eul L o (penensefian pTmsafen alflgb 3 : 2 erens. Coaud Sieubmie

> Lpiisafien 68D 5 : 3 araflé Seupdlar eueeruiFiiseflar el gD

A 5:2 5:3
©) 3:2 D) 2:5
(E) aS]em_G]g,ﬁlu_uaS]bew
41
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y 3 _ 2 _ _
63. 1 92x 4x X + 28 i

If the HCF of x* + 3x® + 5y? + 26x + b6 and ¥
2
X“ + 5x + 7. Then their LCM is

(&) (xz + 2x + 8)(x4 +2x3 — 4x% —x +28

© [« - 20 + 8)(x* + 22° - ax” ~x + 28
(D) (x2 - 2x — 8)(x4 +2x3 —4x% —x+28

(E) Answer not known

)
(B) (x2 + 2x — 8)(x4 +2x3 —4x® —x 28)
)
)

x* + 3x3 + 5x2 + 26x + 56 LODHMILD x* + 2x° _ 4x? — x + 28 e uoQimitiyg
Canemeusailan  S.Qumes. x> +5bx +7  eafled <SiQuD et BS.Qumw.-ar iy
G

(x2 + 2x + 8)(x4 +2x% —dx® —x + 28)

(x

)
x? - 2x + 8)(x4 + 2x3 — - X + 28)
)

@k(xz —2x — 8)(x4 + 2x¥ = 4x? — x + 28

(E) e Qgflusicoena

[

+2x—8)x4+2x — 4x% — x £28

64. Which one of thefollowing is a pair of co-primes?
(A) (16, 62) "~ (B) (18, 25)
(C) (21, 35) (D) (23, 92)
(E) Answer not known

G ememeuaTeUDMIET eThS @(H CoMy. TRTHET STTLIST cTaimaear?
(A) (16, 62) Bf (18, 25)
©) (21, 35) D) (23, 92)
(E) oo Qsflwellcrens

CCS1P/22 42



y

-

0o

66.

ice of :
If pr1 a tea increased by 20% by what percentage must the

umptio
consumption be reduced to keep the expense the same

2
A) 152 %
(B) 3 (B) 16—2-%
3
2
17 2 %
(©) 37 (D) 18%%

(E) Answer not known

Cauilamauier eflena 20% 2HaN&EE0LCurg Coullerar LGN g6 Qseay LOTYTLOWD

B(mHs Caullee LWETLIN Iy e agsmen 55655 G@DEEIS amerar GauamGLb?

2
@A) 152% (Bflsg-%
© 172% D) 18 2%
3 3

(E) edlenL QgMwelcrencw

Akila scored 80% of marks, inan examination. If her score was

576 marks. Find the maximum marks of the examination.
(B) 680

(A) 640
(D) 700

(C) 1720
(E) Answer not known

@ Cairadle 80% wAuQuamseerl  CUDOTET.  DeudT Qupms)

Sflor 6
576 wHUIQUERTSAT. SIS Ggiredle Qrss LHUQUETEMETE &S .
(A) 640 (B) 680
@ 1720 (D) 700
(E) eferL Qsfweilovee
43
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: EP) envisageg
67.  Assertion [A]: The New Educational Policy (N a

i ing process fyq
complete overhaul of teaching — Leartn lialz. o centrr-n
the traditional teacher — centered to i

approach.
- f student
Reason [R] : NEp ensures that holistic development o S by

accentuating their creative potential.

(A)  [A] is true but [R] is false
(B) [A]is false, [R] is true
(C)  Both [A] and [R] are true; and [R] is the correct explanation of [A)

(D)  Both [A] and [R] are true but [R] is not/the correct explanation
of [A] :

(E) Answer not known

sapm [A] : &H9A5s6 —~ SHME Qawicopenmudl e (WP WTean
LMIETeDLLIADHETs! HIW swelsQararens, urrouflu e Afwr

@LWLNE Q\BHES SHHmD, spuauflest epow S (&(PEH DTS
2 (heundlenmg,.

snyeno [R] S, s0el Qsmerensudic LOTemTeu & orf) eyt &S Teud pevar
2 WSS sieuisafer PUewwner cueridfany 2 mifl Qawige.
(A)  [A] eremugien g ane [R] T Seum

(B)  [A] erenugy seum, <emed [R] ereTLIg,) &)

© [A] wppis [R] Qo @reingo 5 o

69leT&& LD

P0 [R] eramg, [A] Wern sfwmen

(D) [A] wopmgw [R] @eeu Qe g 2@ [R] eTamLg, [A] Qe sRwren
eSlem&sDev ey e

(E) o&9eni Qg Mwellveney
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| ‘ oting soil h ’ ‘
promoting ealth’ and ‘making rainwater harvesting compulsory

6o These statements relates to
A) Green revolution (B) Blue revolution
©) Evergreen revolution (D) Yellow revolution

(E) Answer not known
‘eSS Cubu@sgse’ wHmb ‘wapht Csaflumu gL LTuUUGSSS® — @5
ga D DILGT QsTLiiLeLWg

(B) $eousyydl

(A) LG LI TLE]
(D) wepeeT Yrd

(€ usewwTe o],

(E) eflenL Qs fweileana

h are the articles that describe situations and confer power to
ntrol over states

¢9. Whic
Union Government to claim co

A) Art 368 and 313
(B) Art 356 and 363
(C) Art 369, 9256 and 257
(D) Art 349 and 350

(E) Answer not known
e STES®E sHW SiT& sLHLUUBHSSID

ThEE ELLEEET Gphows 503
SIS STIRIGET o ) & TDETT-

(A)  snde 368 OO 313

(BY #ys8 356 wpmd 363
m‘g@ 365, 256 LHMHILD 257’{
D) arse 349 wpmbd 350

(E)  oflerr Qpfuiedwee

45
CCS1P/22
[Turn over



70.  Indian economy is marked by the existence of

() Low per capita income

(1)  High proportion of the working population is engaged 1n industﬁe;\_
(11i) Improving rate of capital formation

(iv)  Problems in the employment

(A) @) and (11) are correct

B) @) and (111) are correct

(C) (i) and (ii1) are correct

(D) (i) and (1v) are correct

(E) Answer not known

QBAwL Cunmerngmyio @sen ppevid GHssLLHEDS,

1) Gopbs s amLIeND

1) 2 ewsEn wasdr <25 AdzsH 0 Qs mflheraesema FRHUL(DeTerenio
(111) Cobu@ssri.l POSET 2 (heumés 69 sLh

(1v)  Geuered cumiai9ed Héscrac

A) (1) womw (ii) sAwurereney

(B) (1) womb (1ii) efwreneney

©) (i) womib (iii) surareay

(D) (@) wpmw (1v) sAwrerenay

(E) &Yenr Qsflwelereney
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72.

The functions of Reserve Bank of India are:

i) Issue of coins and Bank
(i1 Banker to the Governmer:;tes
(ii) Regulating credit in the country

N and (i
(é) gz)a:nd(t})_only (B) (i) and (iii) only
©) 111) only (D) (i), (ii) and (iii)
(E) Answer not known ’
@Dﬁu.l Me&meu eumidlulles Q&md)un@&;mrrmm
(l) ‘r_r,rremu_fréufseh LOMID emumi Crm_{ QeuefudHaed
(11) DEMLESHDE curdlwneryrs QewduGEH
(i)  Brige SLET WPOPS@ET QUEEULOSEISD
(A) (1) wpmid (11) i Eib B () wpgw (1) v Ew
©€) (i) wipud (i) v G D) (), Gii) wpgb\it)
(E) elen Qgflueieoene '

How many pairs are correctly matched?

Vaccine Nature
1 Pfizer L mRNA vaccine
2. Covishield | — DNA based vaccine
3. Covaxin — Inactive vaccine
4. Sputnik.V — = Viral vector vaccine
(A) 1 pair (B) 2 pairs
(C) 3 pairs (D) 4 pairs

(E) Answer not known
agsenen Gegmig seT SMWLINS QurmsSLILL(HeTerar?

FHLYE Qawev
1. Pfizer — mRNA sGuyé
2. Covishield — DNA aiguuem terer sGULA
3. Covaxin —  Qewdlipps sOUYS
4.  Sputnik. V = @aie QeusLir 5HLIYS
(&) 1Ggme B7/i gam&dj
(C) 3 cgmgser (D) 4 Gggmgar
(E)  sfer Qalweilovme

. CCS1P/22
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73 JaWa
fajthshzé‘t?lalllNehru V.the in 1961 ‘India as 2 secular state hqnours
President of¥ E(lir?d gives them equal opportunities". §. Radhakrishnay, N
it does nof ndia too expressed ‘when India is sald_ to be a secular State
or the reley ean that weasa people reject the reath of.a.n unseen spjy;,
mean th ance of religions to life or that we exalt n;rehglon. It does n,
at secularism itself becomes a positive religion or that the stat,

assumes divine prerogatives’.
Which one of the following is best implied in the passage’

(A) Indian secularism is a religious, irreligious or antireligious
(B) Indian secularism is perfectly compatible with religiosity
(C) Indian secularism does not recognise the importance of religion in

the public space
(D) Indian secularism is not required to give each religion equal

consideration

(E) Answer not known
B, AMESS (bghs@aTLD FOLME ééEngl wHHL
SIUTHERESE 10 @MIULE®ET uPBGESDg T 19616 Cpm eTSemt. @5
@pSwreslen spanTUSLTS Blmrs prgnd (Hegane “LDéS&SGTTﬂé]UJ' BTLD &@T@u%
Qs flurg < edluller g missosGLT e @Jrerbés@e-sa;@ LTJg)rBJJSGT'ﬂm'
Qu(mEss@SEWT ;F;lr,rrra;ﬁlésﬁ(ﬁmm, So@g DSFPE p_u.mg)gjél(ﬁmrr‘m, areny
DTHSLODD wgpé&nﬁlﬁlmmm(ﬁw e Goi@PWTE LD{Q;LDITES'LDIT.QJQ[DQI. é{GL:ngJ csfu&

o Menloganar gHmEAsTEns) aeny  SITESLD Qo G

@BAUT @ WHEETTUDD

@g;ulsﬁ'as

QeuefliL(BS GO

Lﬂmw@wmw@@@ erg) ipLLTs ugdue @gslulﬁlmuf_@emg?

(A) @Eé‘ﬁ'“ mgé&rrr'nﬁleinemw aanug @6 LS LGGFTTLDD SHONF) 05HH0E
argyrendl | N

B) @599“" u)géf&rrr'nﬁ]eiﬂmm wgwng,gg,u_m @@@wms @g@u@umﬁmg,} |

( Qung) Qavafllde  wasHen @g;ag]wgymgwg;

- grmflenenio
w u)g,&&rrmﬁ]aﬂ |
)“

©F @pdv_ P
arﬂiasﬁlaa;e@wmsv | | | »
Gananto eTeTE! euleuT(® DFE@SULLD FLOLDMES &(m5 Gauamt

D) @by |
®) gwﬁwﬂ@ww ;'

aevene
(E) et A5 , |
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amil Nadu Stat .
1 Q1M . e haS WhICh Of the fO“OWlng pOllelpOllCIeS?
Tamil Nadu R and D Policy :

1' .
:),7, Ezﬁ gzgz ;‘(i)f:ts‘:iences Promotion Policy
: . e 5 .
,  Tamil Nadu Fin techa;(‘)i]ri\gyLeather Products Policy
@ . g ang . (B) 1and 3
© > (D) 1, 2 and 4

(E) Answer not known
QL&QE"(B e Wareumb Qsretans/QsTaramssatn ens QuipmeTers)?
50pETH R wpmn D urails

1.

9. slippr® Life Sciences Promotion unalfl

3. sOPBETH STt LHb Cered AunBL&ET a4l

4. SOPBETEH @S umedldl

(K{ 1, 3 wpmw 4 (B) 1 wpgno 3
©) 1,2 wppd 3 D) 1, 2 ippgio 4
(E) el Qg Mwelevene

ired?

Which of the following are correctly pa

i) New India and Commonweal Mrs. Annie Besant

Bala Gangadhar Tilak

(i) Kesari and Maratha -
(ii) Indian Opinion _  Gopal Hari Deshmukh
(iv) Indu Prakash _  Mahatma Gandhi
(A) (i) and (11) (B) (i) and (iv)

(D) (iii) and (iv)

() (i) and (iii)
(E) Answer not known

Géneumeuareupdle cTae sfwnsy QurppSweTaTen?

() By @pHur wHDO sparate  —  Howd. seef@usan eI

(i) Gssfl LOHILO LyrgssT - '-J"‘*WFB{GSMU Qmafr'r .

(i) @pHuit 5OES —  Gsmune anfl Gpeisapd

iv) @hg Wrsmev —  warEL SMHS

& (i) womo () (B) (i) wppid> (V)

) (i) wpmd (i) (D) (iii) wppo> (V)

(E)  efen Gg,rﬂu_laﬁléomw

4 CCS1P/22
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) correct about Madras Natiy,
co

76. Which of the following statement(s
Association? India
. T in Indl
(1)  The first political organisation started: function on 1852
.. _ o 0 oo
(11) The Madras Native Association begah Native Association  wag

(iii) The founder of the Madras
G. Lakshminarasu Chetty - ociation Was Anandha Charly

(iv) The leader of the Madras Native A
(B) (i) and (ii) only

(A)  (iii) onl
111) only D) ) -nd (%) only

(C) (i) and (iii) only
(E) Answer not known '
Spssar_ ansdunsaie Qulgren GCHlige 2 CerflGuegen UHBIW  Fflwune
aursdlwnisamersd Camb0s[H&ESaLD.

() @bdwurede gpmbidEsiul L (psoTaS SITEL FipS DAMLUY

() Q& 1852 eyarr® wse AsweduL AFTLREWLS

(i) Quigmev Gl g6y HCerACwagefien Hlmieueit . aeiglliBIs Qagl iy

(iv) Quigrav Gpligeu 2GsndGuagafien sdeui AMBSTE ST

(A) (i) v @b (B) (1) womw (11) wLHW

©F (i) wpmod (i) wr Go (D) (ii) wpmd (V) L @i

(E) e Gaflueieera

The tropical cyelone* winds blow into the Northern Hemisphere in

77.
direction.
(A) Clockwise " (B) Straight
(C) Anticlockwise D) Circular

(E) Answer not known
L &G Ar&ECanarssle enu®ib euaflbair g Gum)(gé;@ mmé@ T Hensid ST
n&llev &N

&LPGILD
(&) sqsms 5pp ®) oy
(C) edisyanms snm D) ooy

(E) ofe Gsfwelena
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9.

What are the pillars of block chain technology?
chnology

1. Transparency

2. Immutability

3. Decentralisation

@A) 1 and 2

(C) 2 and 3 (B) 1and 3
(D) 1,2and 3

(E) Answer not known

syarré Qgudlen CLdemmegduder gemser craneu?

1. QeuefluueL g geenin
9. LIS YOOGS

3. LIJeUE & EHS 60

&) 1woppd2 (B) 1 wppud 3
(C) 2 wpmid 3 B®1, 2 vpmitd 3

(E) efer AsAwahlrena

Which of the following act was described by Jawaharlal Nehru as the

‘Charter of Slavery’?
(A) Government of India Act.of 1909

(B) Government of India-Act.of 1919
(C) Government of India*Act of 1935
(D) Government of India Act of 1947
(

E) Answer not known

@ T8l Siig MLOSETIET UL_LWLD 6TeT SReUaDTeuIT

N S

SP&STEHILD gL gl & CGrmedletme
AauflsasriuLgl?

A)  @pduw oypEmhEs FLLLD 1909
(B) @pHu sipsmias st 1919
© Qb DJEMTRISF gL LD 1935

§ LD 1947

D) @iHu SireTBS

(E)  e9epL @g;rﬂuaﬂd)w@
. CCS1P/22
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80. Ir_1 which annual sessions of the Indian National Congress made the
historic ‘Purna Swaraj’ declaration?
(A) 1907 Surat (B) 1920 Nagpur

(C) 1929 Lahore (D) 1940 Karachi
(E) Answer not known

QBHW CsAw smiudyen Gr‘r_i',g peT(H @iwieded eupempm HpldléEs Lremr Fimgy
D& sanw Qmaﬂuﬁ]ﬁ_L@

&) 1907 gy | (B 1920 préyi
(©) 1929 wrsns (D) 1940 sym&d
(E) o9an Qg Mwelcrene |

81l. Who was selected as the President of {Council of Action, which was
constituted by TamilNadu Congress’ Cammittee to execute the civil
disobedience in 19302

(A) C. Rajagopalachari
(B) S. Sathyamurthi
(C) T.S.S. Rajan

(D) T. Prakasam

(E) Answer not known

1930 <> et SODBIH Sriud e SO 1gwimey FLL miliy QuésssHaman bLES
Qewp &S seeanmas ConbosGasiur L et wmi?

(&) C. @yrgCamunarsstAwumi
(B) S. ssBunpiss

(C) T.S.S. @ynsgen

(D) T. Qysrsb

(E) &levr Gsflwelerene
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L)
ol

The steps adopted i
n the ] _
js/are ong term conservation strategy of wild life
() Hunting sho .
uld be strictly prohibited in the nation

sanc ] ]
tuaries, biosphere reserves

parks,

Gi) More national
al parks and wild life sanctuaries should be

established
(111 Captive breeding of wildlife should not be encouraged
A) () only
(B) (i) and (i11) only-
©) () and (i) only
@) (i) and (i11) only

(E) Answer not known

war ef@mEs@aTL LTgETEGD DT ST aufl pevpaafie Qgmi DIbEBISET
Greuenel
1) Gsélw Ly BISTESET, FERTTOLIBISET, p_uﬁlﬁé;(zasnm‘asnuuasmasdr oy Hwabpled

Coul_avL_wrheugl S®L- Qeuw

(i) Gugubd Gz Jisngsdt 00D

GuL Geuam(Hid

b eueareilB FreRTTEWIRSET HpeuUUL

GouenT(HLD
(111) @Jmaﬂw;ﬂ@&;aﬂ a1 HlappLIUL @anG L(HEESDS oa1é(5eN 58S LSl
A) (1) G | |
(B) (ii) whmpd (111) O

©C) @) LOHMILD (11) ol D

B () wppd (D) CEy

E) o QpALIOP
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: i of a contaminanp,
83. ASSlgnment of ecological or biological significance

effect based primarily on statements of statistical significance byt
Contrary to biological probability

(A) Malthusian theory

(B)  Median effective concentration

(©  Maulstick Incongruity

(D) Maximum likelihood estimation

(E) Answer not known

2 u9MAwed Bepsseass  wrons, WPsemebowins  erafefeur YESwuggeusdean
é{@é;a)asasemm}gmuumLuma;és Gsrari_ g LI&UT 65T 6Senarel e EDMIEFS,p6
Slveg 2 uffwe (g)ésﬁuggjmgmg) RIEGHe0

()" wréogrdwer Caung

(B)  synsM LuwgpieTer Qadley

(C)  wréevgs Qunrmgs9enenio

(D) <dsures EMGS W& a0 ) S

(E)  &fen Osfwederana
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i ch of the following st
2. (CAA) 2019 are trye? atementg about the citizenship Amendment A

1.

2.

3.

4.
(A)
©)
(E)

Citizenship wij)
for more than sjx years

Citizenship ¢t

Christian ’ cgmrrrfmbe.rs")f Hindus, Sikh, Buddhist, Jain, Parsi or

Pakistan who e tumtles from Afghanistan, Bangladesh and

Members of Spercl' tgred India on or before 31 Dec, 2014. o

6 : ific communities will be granted citizenship within

Tgeggﬁn%ead of 12 years

1 a(; 42 Will help to the preparation of National Register of Citizens
are true (B) 2 and 4 are true

3 and 4 are true
Answer not known (D) 2 and 3 are true

b - .
© granted to all the foreigners who lived in India

sauflow Jdmssé siin (CAA) 2019 updlu Gereumb smppsaie g/ T
o GRTENLOW TETENEU ?

1.

2.

3.

4.

(A)
©)
(E)

@Qndwureddr 6 yamHsEHsEE Cod aumphHs Samss Gmaﬂpm'_qm@és@b
Gl flen euphisLiL@Hin

Lisraflevgmer, UmsaTTGCHey LLHMID undevgrafd mbs wWHSI 31 1g&DUM
2014&@ e QbHurelpEGer SHimPhHS QhgGaeT, EsSwnae, QueTSSIT&ET,
angpaniaeT, LITTSl&ET Dicag) Sblavgiel sapsiisaflan 2 pUIaiaEnsEd Gyuwflenwo
GILALL  sppsmsmeTE CoipgaiisE@nsd 12 SFTDEEHEG USOTE
6 <& HSEHEG G wflenwo allpRISHLHW

Glq wésaflan Geélu uHCam suinfiugeé CAA 2 e

(B) 2 wpmtd 4 &l

1 oo 2 &
3 ppid 4 & (DY 2 wpp> 3 o
afenL Qg Muwiedicrened |
Find the mismatched answer about the Indian Railway Zones.
Southern - e(J?h.ennai
Central — aipur
Northern — New Delhi
Eastern — Kolkata

(E)

Answer not known Ny . o
9éCeu waTLOL Ghds SeupTHEL QumrmasLLL(Herer

Aemeu(meuareuDIIET Qudul 7
clenL_eowd ST,

(A)
By
(C)
(D)
(E)

A5H® - g%:;z;“
opfued T g gan
gl;;g _ QHTO&ESST
AeoL Qg Aweiwe@e
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86.  Which of the following statements is true about human races?
() The races is a group of people with more or less permanent

distinguishing characteristics

(1)  Human races are classified in 7 blood groups
(1) The races are identified and classified based on skin colour,

stature, shape of head, face, nose, eye, type of hair and blood group
(A) (1) and (iii) only
(B) (1) and (ii) only
(C) (@) only
(D) (1) and (i1i) only

(E) Answer not known

HemeumLd sapmisafleh ereneu afls G amhisehar LbHiw sflwTeT snhmiseT?
1) Qamser aaug efswrsCeln sidag GopaunsGar Hrbsr selsgeunrar

LIGRTL&6en6ns Cl&TeRTL ¢3(ih G (LHeumGLD.
(1) weafls Qamser 7 Qrés cumssarts ANss0ILL_(HeTaTa.

(111) Cgrellen flpid, 2 WD, sUAET Guiqeuld, (PSLD, APEES, ST, (1Ply. CUMS L HMILD
Bss awas ydweupdlen 2igliuem ule @QTEISET enLWITeTLD sreRTiul_ ()

s ILHESILHES aTmen.
(A{ (1) wpmid (i11) wi
(B) () wpgid (1) wGid
C) () wiEw
D) (i) wpmibd (iii) w Ew
(E)  efen QpAwacoane
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88.

m::s the contemporary of Emperor
(B) Queen Elizabeth.-I

(C) Queen Victoria

(D) King Charles II

(E) Answer not known

LT sTSHO @rforhms <y § Qewigeu
(A)  ereuen gment

(B) psemd @rranfl erellevdus

(C) @umenfl e9&CLmRwm

(D) <irei GrTLID STTEE

(E) eflenL Qsflweilvama

es that ~the death of

Meadows Taylor observ
f the Bahmani kingdom.

‘the beginning of the end’ 0
(A) Mahmud Gawan

(B) Ahmad Shah

(C) Mahmud Shah_

(D) Humayun

(E) Answer not known

QuGLTev @LIeT
eTEaTM) F(mE .
(A) anwd SeUITET
(B igwg a3
(C) wapws T
(D) apowTLLeT

(E) o9en Glg,ﬂuaﬁlcbm@)
57

Akbar in England.

was

" JT\Y) T umapaf - Slulen “apigedlém LD’
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89. Arrange in chronological order
1. Nehru Report
2. Poona Pact
3. Simon Commission
4. Cripps Mission

(A) 17 29 3, 4 (B) 3; 27 4’ 1
€) 31,24 D) 2,1,4,3

(E) Answer not known
sme auflewsliuig o(eEs

1.  Comidsms
2. yewmeuupsb

3. MELET G

4. &fuien @

A 1,2 3,4 B)+3;2,4,1
@€ 31,24 M) 2,1,4,3

(E) eer QzsAwecrana

90. Which one of the following i§'not correctly matched?

(A) Arif Qandhari —
(B) Nizamuddhin Ahmad =
(C) Abdul Qadir Badaoni -
(D) Muhammad Khan —
(E) Answer not known

Tarikh-i-Akbari
Tabaqat-i-Akbari
Muntakhab-ut-Tawarikh
Khulasat Tawarikh

Seumeuareumniled creaneu Heumns @mmré;&uul'_@mmm?

(B) a0 @psr _
(B) ferepben sisiog .
(C) <@wige srsr LQgereafl -
8 (PELDG) &en -
(E) efer QgMweferane
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N Match the following:

(a) Garo 1. A
- ssam
(b) Kukl 2. Mizoram
Todas
(c) i 3. Tamilnadu
iri
(d) 4. Arunachal Pradesh

(a) (b) (c) (d)
A) 2 4 1
®m 1 2 4
) 1 2 3
D) 2 4 3

(E) Answer not known

Qéreu(peuaTeheDL! QUTBSSS

1. evenmbd

(a) &nGpm

(b) &dl 2. LSIG;rrva

(c) Gsmm 31, sulppTH

(d) o 4 S|(HETEFDL 1QyGgaD

@ ® © (d)
A) 2 4 1
B) 1 g 4
©) 1 2 3

® 2 4 3

(E) eQewr Gg,rﬂu.l@gld)@”@

— B L W
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> fw
92. The Stupa at Amaravati is a best example © ]e of architecture

ra sty
(A) Nagara style of architecture (B) Vesa tecture
avidian architec

(C) Mughal Architecture (D) Dr

(E) Answer not known

iwrreudluiigieter vgmd ran@&s Hmbs a(BosiFem-07 _
SHEeV

: 5 GL_lg L
(A) BaTUUTeRtlS &L ig L Ssemev (B) Gm&guunmﬂ& lg-
D) ana‘_ﬂl_és &L Ig L &SHENEV

©) wseorws &L lg L &ES®6

(E)  e&9ev Qsfwelerane

93. Choose the right matches among the type

1.  Vedantins — Brahma

2. Naiyayikas — Arhat

3.~ Jaina —  Creator
Karma

4. Mimansaks -
(A) 1 and 4 are correct (B) 1 and 2 are correct
(C) 2 and 3 are correct (D) 3 and 4 are correct

(E) Answer not known

CAar(RssUulLareunmer &flwrer QuTHEstismang GCaib0s(H&seD

1. Ceugnpdser —  Ugbwr
2. epwur@ser - Sifang
3. egen ~ e durari
4.  Bwmbssi ~ s
& 1 wpmib 4 sflwrareney (B) 1 wimyw 2 sflwurereney
(€) 2 wpgbd 3 sflunaraey D) 3 wipmin 4 Filwnereney
(E) ofeni Qg fwedlebenay
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Choose the correct match;

.. Ariz-I-Mumalik
ek L — * Minister for Defence
2. snrii-1- 114
o umalik -  Accountant General
3, abir-I-Mumali .
ahk —  Minister for public grievance
4. Mustaufi-I-Mumalik —  Auditor General

A L2 and 3 only
(B) 2, 3 and 4 only
©€) 1,2 and 4 only
M) 1,3 and 4 only

(E) Answer not known

&L Qun@gﬁumg’)mmg (Sgr'rﬁ@g)@ésasml.b

gflwm
urglamiy DNLDFET

1. auﬂa'q;—g—@mmﬂé; -
g,cma)mmés SETESSTET

2. @siqnﬂu—g—@pmrrs&é;
QuITGILO&SET G@pSTUY DIDDEST

3. g,rrﬂr‘r—gg-@wrraﬂé;
4. @mgéjﬁ]-&o—@mmﬂé FEOW® S el Genswmer
Ay 1, 2 wppd 3 =GP
(B) 2, 3 wpmitd 4 wl @
©€) 1,2 wppd 4 L O
D) 1, 3 wpmd 4 nclt:
(E) o&fewL @g,rﬂu.laﬁlc'v@’)@

CCS1P/22
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95. Consider the following statement and find th

1.

(A)
(B)
(©€)
(D)
(E)

e incorrect answer :

: : : . ; assent to the |
The constitution imposes limits to President to g1ve

bill passed by the state legislature

The President may refer a reserved bill to t

under Article 143 for discussion g
The power of the President assent to the bill passed by the State

he Supreme Court,

Legislature and Parliament are the same
The President cannot keep a bill of the Parliament pending at his

hands for an indefinite period‘of time
1 and 4 only incorrect
1 and 3 only incorrect
2 and 3 only incorrect
3 and 4 only incorrect

Answer not known

EDEERTL g HNIGEMETS &H(HSELD, SEUDTEN &afDM)EEMETS &HETLHlLeLD.

1.

(B)
©
(D)
(E)

CS1P/22

FLLammd @uinmlw m@&rrg,rrmé;@d)‘ GG LTS ST SENEn|ent U @d)acmmg,
&7 ATl bliyé UKD ¢ creoaean cuadimisSuereng |

s L 2 gy 143-ar &1 (sigwis gooal Himsd meausdmé@n wGFTsT LD
2 55 pHwaTnSHL b 2 Caordlésamid
LMFTEBLEDL BHMIL FUL WemmEGHE @uibu w@sﬁgbnésa;m Bg @igwrs
s @Cr wrdflurer wdsrsms Qsreamg wafmmi.
umpmeswend @updlu wEesrsn Bg Gy wrs o, s euamuampuiead
PUUSE ST MeUSE(HES (Ligwing).
1 womib 4w Hb ey

1 wHmid 3 wi B eumy

2 pmib 3 L e

3 wpmib 4 vl Hib seum)

el QgMweldena
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96.

97.

Whlch constitutional amendment incorporated Puducherry in the Union
of India? '

(A) Tenth
(C) Fourteenth
(E) Answer not known

(B) Twelfth
(D) Twenty second

abs Ssoius Jnssb ugsGsiou @b paflughe Coisss
A)  ussTaug | (BY uanafiyam_neug)

(C) udameansmeug D) @musHudem ez
(E) eferL QzAweiicrane

Arrange in chronological order

1. Sarkaria Commission

2.  Balwantrai Mehta Committee

3. Rajamannar Committee

4 Administrative Reforns Commission

A 2,314 (B) 2,4,3,1
C) 2,413 D) 4,2,3,1
(E) Answer not known

&p 2 araTeuHEODE sroauflasliu(hsss.

1.  srssmAwm Q,@eruid

2. uaeupsrml GoEET GW

3. gmgwenenmt G

4.  Picuns ST HHs PoamuLd

A4 2,314 (B) 2,4,3,1
C) 2,4,1,3 ®) 4,2,3,1
(E) ofeoL Qzflweicae

63 CCS1P/2
[Turn ove



98.  Which of the following statement is/are correct?
1. The universal declaration of human rights was adopted on 1948
2. Article 10 says that all human beings are born free
3. UDHR has altogether 32 articles.
4. UDHR was adopted by United Nations General Assembly

(A) 1,2,3and4
(B) 1,2and3
(C) 1land4

(D) 1,2and 4

(E) Answer not known

ECy Qar(Rssiu(Herer erg)/creveu sl uamang)?

1. uanem_(H) wefgs 2 Mewgm s aiu@ssuul L ek 1948

2. 94 10@en L wallsTEeT maTeuBLD &FHSTOTEL KDHeeuTHET

3. Lere () wafs.afMmwsd Ars_anb Qs 32 clfsmars Qana_s,

4. @sdu pripseflear Curgissau uvaaml(h wally 2 Mowsar YrsLasos
gnmié CemeL_g

(A{/ 1, 2, 3 wpmwb 4

(B) 1,2 wpmyb 3

(C) 1 womb 4

D) 1,2 womw 4

(E) efenL Qsflwelawvene



9.

1.

o

w3

(A)
(B)
(9
D)
(E)

@pwredler wyeflwer \QyGaemis@aTs LD

1.

(4)
(

©)
(D)

which of the followi
n . ) . ;
[ndia? g statement(s) is true about the union territore

s of

From 26th J
are combi E:in' 202(.)’ Dadra and Nagar Havel and Daman and Diu
Articl 2ne to a single territory. ’
1cles 239 t . . . '
territories. 0 241 in Part VII of the constitution deal with union
of Jammu and

Th J .
Kazh::'o union territories from the former state
ir are Ladakh and Jammu and Kashmir.

The largest union territory of India is Andaman an
Islands.

1, 2 and 4 are correct

1 and 3 are correct

9 and 4 are correct

2, 3 and 4 are correct

Answer not known

d Nicobar

Blus A (Lo sapmEeTe el 2 G@TEDLD?
20 & STHIT Lo mILD prrasr'rgm(ﬁmc& LoHmLD LMLOGHT HHID DL
7 197C&ELNS @mawré;asuu
QG e arar 239 @

L_(permemen.

26 gganeurfl 20
ga 241 amrdorer ayse

gfumel @G

wwidar VILuGS

wyeflwie QrCe e @ iLmLTaTee..
(pesr BCP wpgd sregbilam Qran® wellwe QyCaamsa,

(p oHHILD saglT BGLD- |

a1 QgGssD DHSLOTEN wHmn HECeTUTT

<rflwe
pHmSL Lombley
oLmé HmHiDd B
@dwredien Aeuauiiu weflu

Sayzar.

1,2 w[_i)Qij 4 &l

1 wHmo 3 &l
2 whpb 4 gl
2, 3 HmILd 4 &l

(E) eden Qgprﬂuaﬁlebmw

CCS1P/22

~R



100. Which of the following is incorrectly matched?

1.

4.

(A)
(B)
©)
(D)
(E)

Article 361

Article 352
Article 356
Article 360

1 only
3 only
1, 2 and 3 only
4 Only

Answer not known

The President enjoys protection from
criminal proceedings against him in court of

law
National emergency

President Rule in State

Finance commission

&peu(meuaTeudmIeT 678 Seumns QummGSSLULIL (HeTerg)?

1.

g5l 361

agr55 352
agrsg 356
agr55 360

K{ 1 wl(Hw

(B)
(©€)
D)
(E)

CS1P/29

3 wl (K>

1, 2 wpmid 3 w_(Hid

4 w_(hw

ellenL GsMwelldvenc

PHwansHer Guurss SoOOUBHESE —eTSrma
@hpeilwe BL eIy Smssaier Qmbg UTHSTUI®UL
CumS o,

Caflw ABHEsy ST 1TsL_eb
rBlosHed @4 wrss smoeur 14
Hld =y enemriid

NS



